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ClENE T (ES 50 46 96 | 34.0] 62.0 |[AE
£ [ELIEE-TIN 43 39 82| 15.0 ] 67.0 |[AE

3 RS 44 46 90 | 23.0 | 67.0 |[AE

UM BT 11T 41 45 86 | 16.0 | 70.0 [AE

5 [y 42 44 86 | 16.0 | 70.0 |[AE

6 |&F ofF 42 48 90 | 20.0 ] 70.0

T |iIE BUE 49 45 94 | 24.0 | 70.0

8 |/t 44 42 86 | 15.0] 71.0

9 B\ M 45 41 86 | 14.0] 72.0

10 [#2FHA 15 42 45 871 15.0] 72.0

11 |E #— 43 45 88 | 16.0 | 72.0

12 |=8 sk 40 47 871 14.0] 73.0

13 |# 0k 40 50 90 [ 17.0 | 73.0

14 3R =& 49 45 941 21.0] 73.0

15 B = 41 54 9% | 21.0| 74.0

16 5% &H 46 49 95| 21.0] 74.0

17 |H#F & 45 51 96 | 22.0 ] 74.0

18 |FH# IE 45 46 91 ] 16.0 ] 75.0

19 |2X BE= 46 46 921 17.0 ] 75.0

IV (1] AN 46 51 971 22.0] 75.0

21 |l #'F 48 51 99 | 24.0] 75.0

22 |EHRA E—EB 48 45 93| 17.0 ] 76.0

23 (&4 =B 51 47 98| 22.0] 76.0

24 |48 —%X 51 48 99 | 23.0] 76.0

25 (@M & 44 49 93| 16.0 | 77.0

26 R = 43 50 93| 15.0] 78.0

21 [#LE BX 47 47 941 16.0 | 78.0

28 |ZH HRE 48 48 9 | 18.0 ] 78.0

29 |lUAX £F£mE 48 551 103 | 25.0 | 78.0

30 |iIsE HF 53 50 | 103 | 25.0 | 78.0

31 |MBE A 48 49 971 18.0] 79.0

32 | K& &S 53 49 1 102 ] 23.0] 79.0

33 |EH #F— 50 49 99 | 19.0 ] 80.0

34 |HE FA 49 541 103 | 23.0 | 80.0

35 |ME EW 47 48 95| 14.0 ] 81.0

36 |BiE; E@X 57 521 109 | 27.0 | 82.0

37 |FR 15% 54 531 107 | 24.0 | 83.0

38 |5H =L 48 52| 100 [ 16.0 | 84.0

39 |#E & 47 53] 100 [ 15.0 | 85.0

40 |BT it 44 56 | 100 [ 14.0 | 86.0
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